Efficiency vs dr

m .'I
< Lo
© 0.09F
20.08F |-+
c
Q
50.07F |+
=
@ 0.06F{ff+-
0.05F#f+-
0.04F -
0.03F{fi+ |-
0.02F{f -
0.01 113
o O
IS
nd
0.9k 1l
0.8

[ Efficiency vs dr (track,jet) |

Gy
U*retrain0|

iles125_v2_prelimWPM_epoch4

es125 v2 prelimWPM_e
esl

tpo_ch4
25-v2_ANDPLessRetrain_epoch4

U—retrainO

1
TP min AR

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

1072

Efficiency vs pu

1
AR(TP, jét)

5 0.0
o
9.009F-
3.008F-
(]
®.007F
=
9.006F
0.005F
0.004F
0.003F
0.002F
0.001

............................

.....................

..............................

.....................

..................................................

1.0

Ratio

0.95

i

1B—
E

0.9,

S

2 4 6 8 10 12 14 16 18 20

Pileup

-1




	Contents
	Page 1


